How far did Witte succeed in his plans to reform Russian industry in the years 1893-1903?
Witte’s plans to reform Russian industry aimed to aid Russia into developing into a modern industrial nation. He certainly helped Russia advance and progress through the ‘transport revolution’, partial modernisation of the economy as well as improved foreign trade. However the limitations placed on him restricted how successful his reform plans were.

In terms of modernising the economy, Witte wanted to put Russia on a level where it can compete with advanced Western Nations. In order to achieve this he brought in foreign experts and workers for advice on industrial planning. This played a vital role in Russian industry which experienced rapid growth and has been known as the ‘great spurt’. This was not all Wittes doing as  economic historians have agreed that whilst the sudden acceleration was the result of private enterprise it was sustained by deliberate government policy. Witte did however make Russia too dependant on foreign loans and investments in order to accomplish this aim which makes his plans not fully successful but still largely.

Witte also brought in managers and engineers who also played a vital role in the economic advancement of Russia. In order to create financial stability, large loans and investments were negotiated from abroad but Witte also imposed heavy taxes and interest rates at home. Although protective tariffs safeguarded Russia’s domestic industries the efforts to reform russian industry, it penalised consumers at home. The gold standard that Witte introduced saw the russian currency strengthened by consumers thus had to pay the higher prices that traders introduced to keep pace with this new increased value of the rouble. Furthermore, prices tended to rise as a result of tariffs making goods scarcer. Even though this had some consequences, Witte had admitted that given the backwardness of Russia installing state capitalism would have difficulties and some drawbacks but not significant enough to say this was a failure.

WIttes aim to reform Russia was largely focused on investing capital directly into railways which he was partially successfully but also not fully successful in. His approach towards the railway lines was enthusiastic and led to a transport revolution which saw an extraordinary increase in lines and rolling stock between 1881 and 1914. The Trans-SIberian Railway was intended to connect the remoter regions of central and eastern empire with the industrial west and so to encourage the migration of workers to the areas where they were most needed, judging on this aim Witte was not successful in this specific project because the railway served more as an impressive symbol of Russian enterprise than as a project of real economic worth as sections of it were still incomplete in 1916 and it did not greatly improve east-west migration. In addition this focus on heavy industry meant that he neglected areas such as light engineering. However on a whole trade figures suggest that his aims were largely fulfilled the length of railway lines more than tripled and Russia's annual production of coal, pig iron, oil and grain all significantly increased and due to his restricted actions it would be implausible to suggest Witte had the resources or ability to dramatically improve every area.


Debatably Witte could have been more successful with his plans had he been trusted by the tsar and his government. INstead he received seldom support from the royal court and government which came in the way of him leading Russia towards peaceful modernisation. In the context and situation Witte was in he can be judged as largely successful as he achieved many things for russia despite being so hated and limited by the tsarist system he was trying to save.

To what extent was the defeat of tsarist Russia in its war against Japan 1904-05, the result of its own mistakes?

The defeat of Russia against Japan was a major humiliation and played a role in heightening unrest in Russia and pushing it towards the 1905 revolution. Whilst it was unpredictable that Japan would be so prepared for war, the cause of the defeat was largely the fault of Russia who engaged in the conflict without acknowledgement of the difficulty or implications of war by underestimating japanese strength and by not adequately prepare militarily wise.
The most vital mistake Russia made in the Russo-Japanese War was underestimating the strength of the Japanese. The conflict was initiated by Russia who wanted to obtain an ice free port, pursue an expansionist policy in the middle east and distract attention from its own domestic troubles by rallying the nation in a patriotic war effort. Had Russia not underestimated how difficult the war would be they never would have started the war for relatively meritless acquisitions. Japan was looked on by Russia as an inferior nation and that victory would be an easy accomplishment. War was deliberately provoked over territorial disputes which Russia knew would result in conflict but hadn't known that Japan was so readily prepared for war.
The strength of the Japanese army obviously played a role in the defeat of Russia in the war however it was Russia's failure to acknowledge this that really led to their own defeat. Japan had embarked upon a series of reforms that aimed at rapid modernization along western lines thus making the Japanese army and navy far better prepared and equipped than the Russian forces and won a series of major victories. That being said, whilst the Japanese army was seemingly superior the Russian troops also fought well but were limited and successful because of unprepared military commanders. Russia engaged in war with the belief that Japan would be easy to defeat which could explain why commanders did not effectively prepare. The troops had the potential to perform well but the commanders did not understand the enemy they were fighting or the territory in which the struggle took place. This ignorance meant the Japanese were able to outmanoeuvre the Russian forces Whilst this may suggest it was the ineptitude of the commanders that resulted in russian defeat it can all be linked to Japan's strength being underestimated. If they had been acknowledged as a strong g=fighting force Russia would have better prepared for battle in order to ensure a win and avoid the consequences of a loss.
There could be an argument that Russia, if it had prepared enough militarily could have won the war. However Russia had a neglected military force at this time - as we can see by looking at its role in world war 1 - and so improved military equipment was unlikely unless they saw Japan as a real threat. In addition the final humiliation for Russia was when the Japanese fleet blew the Russian Baltic Fleet out of the water immediately upon arrival after 8 months travelling, even if the russian army had been well equipped it wouldn't have made a difference. Therefore this supports the argument that it was Russia underestimating Japan that lead to failure because had they acknowledged Japan as a strong force they would have better prepared for fight or not provoked the war at all.
The results of the war showed how politically destabilising defeat would be in future conflicts. Whilst there were multiple motivations for Russia entering into war they would not have done so if it weren't for their false assurity that Japan was not a threat. It was this that meant the thought they could still win for poor military planning and ill equipped troops and therefore was the most important reason Russia lost this war.

How did the Tsar survive the 1905 revolution	
he government emerged strong out of the 1905 revolution as it recovered its nerve and survived for the time being by satisfying the peasants with the cancellation of mortgage repayments, placating the liberals by political concessions and physically suppressing the protesting workers. 

Following the tragedy of Bloody Sunday where around 200 marchers were killed, workers began striking in all major cities and towns and by october formed elected soviets to represent the workers demands for better conditions


The frequently occurring mutinies may have suggested that the tsar had lost a lot of support of the tsarists authorities as there were many reports of mutinies who were reluctant to follow commands as first they were conscripted and so had limited loyalty and secondly they were naturally reluctant to attack their own such as  striking workers or rebellious peasants in the countryside. The potemkin mutiny, who rebelled in response to being given rotting food, showed that even though it was a minor threat showed to be a major embarrassment to the government and served to prove that revolution had spread to the heart of of its own military machine. However during the course of the 1905 revolution the tsarist government successfully kept its nerve and maintained a loyal army which helped it survive the 1905 revolution as it would be difficult for protesters to mount a serious challenge.

What was the main cause of the 1905 revolution?				




































‘The only policy Nicholas II’s government genuinely followed between 1894 and 1904 was one of repression’ How far do you agree with this statement

Nicholas followed reactionary policies rather than reforming as he inherited the throne from Alexander III who enforced fierce repression in his reign Furthermore, Nicholas’s upbringing and education made him suspicious of change thus making the repression the only policy genuinely followed by Nicolas’ government. The tsar refused to take the opportunities that came with economic developments to reform and rather showed wiedling resistance to change.

A key example of the repressive policies followed by Nicholas was the continuation and enforcement of Russification which repressed  non-Russian national minorities by emphasising the superiority of all things Russian. Russian was declared to be the official first language; all legal proceedings and all administration had to be conducted in Russian. Public office was closed to those not fluent in the language. State interference was increased in education, religion and culture of non-russian nationalities , in particular Baltic Germans, those from Finland, Poland, Ukraine and Armenia. Whilst this was only a continuation of the policies and culture in the times of past tsars, russification had become more open and obvious  with Nicholas II increasing the suffering of many people in Russia.			
						
During the reign of Nicholas II the number of pogroms increased sharply proving that the tsarist regime actively encouraged the persecution of Jews. The Programs saw those of Jewish faith severely repressed in fierce state- organised persecutions that often involved the wounding or killing of Jews and the destruction of their property.  This forcibly subdued these 5 million Jewish russians the evidence of the repressive nature of russia under nicholas is evident in the fact  large numbers of persecuted jews fled in desperation to western Europe and North America, carrying with them an abiding hatred of tsardom. Those who could not escape stayed to form a large and disaffected community within the empire. Under nicholas over 600 new measures were introduced imposing heavy social, political and economic restrictions on the Jewish population. Whilst anti- Semitism was deeply ingrained in tsarist Russia and supported by the local communities, it was the top down action of the tsarist government that showed how anti-semitism was a repressive policy encouraged by Nicholas.

Had the tsar taken a more reformist approach to policies in Russia there wouldn't have been such a large influx in anti-tsarist opposition groups which proves the repressive nature of Nicholas’ policies. The tight control that Nicholas II tried to impose increased opposition. Political parties were illegal in Russia which is an example of a repressive society, however they still formed in different ways with different  aims,  ranging from moderate reformers to violent revolutionaries who believed Russia could not progress unless the tsarist system was destroyed. The government's policies of repression and reaction produced a growing environment of frustration.

Whilst there was a problem of political reform in Russia due to conflicts over the character of Russia and the inherited harsh policies from Alexander II, Nicholas chose to only follow the policy of repression in his reign. There was economic reform with Witte, but that was focused on strengthening Russia militarily rather than improving the lives of the russian people.			
				
			
		

					
				
			
		

					
				
			
		

					
				
			
		

			
		
					
				
			
		

